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3.1
IR R x,y, 2 G R A I F e
p(x,y,2) = Cexp (—[lx — 2| — |ly — 2[]*) ,

Hr C 2EE. Il (RS 408 2 B, x,y BEMer, PAK x BZMnmmiE N, ).
Solution:

GE 7 B, x,y ML x S TERN Nz, 51,)

3.2
x ~ Np(p, Q7Y), R A E x_ij) = (xn, k £ 1,5) FEF, (v,z;) " KB
Solutionl:
7 S Vs Q Q » ) ~
Sy = ") ye = x i, RO Q 0 = (0 ) b (V) mebbraz e = ()= (7).
x; Qo1 Qoo Y2 22 y2
HEEDUPEER 3%, yi | y2 ~ N (#1 — Q7' Qua(y2 — HQ)aQﬁl)
Solution2:
1 T
p(xi, x|x_i;) o exp —E(X — ) Q(x—p)
—_— 1] _1 ol — 2 s — 2 el e, . L, LTS L
= exp ( 3 (wii(@i — pa)? + wjj(x; — py)* + craiw; + cow; + caay + 04))
1 / A - / !
o exp (—5@- iy — ) (@) (i — i — u,,)T)
Hip Q;; = L“: Z] R AT H Iy 2, LA 2T AT S P
Jt 77
3.3

R Wysp ~ Wy(m, ), UEBH] tr(27'W) ~ X2,
Solution:
HW~W,(m,X) ATHIE, FAE Z = (21,1 2m),21,-- -, Zm 11.d. ~ N(0,X), W = ZZT A

Y22, ~N(,), 1<k <m

W tr(S7IW) = tr(S7V2Z2Z2T87 Y2 = 307 (S 222 T B7Y2) ~ X2 (mp)

3.4

B X1, ... %, did ~ Np(w,3), BRI ZH e S = Y0 (xi —x)(x; —x)7/(n — 1), W Cochran & FEiE
(n—18~W,(n—1,%).

Solution: &% 5 /NPHES 2



3.5

€Z;

ik —JehldLn) & 2 = ( ) =1, miid ~ No(0, ), A0 X = (21, ey @) T3 ¥ = W1y e tn) T 2

Yi

W = izizj— = ( Wi Wiz ) — ( ZZL?E? 2?;1 TiYi ) _ ( x ' x xTy >
= e D vl i Y x'y y'y )’
% Wishart p1E L, W~ Wa(m, I3), 2 x 2 MFRAEE W AEEREEFEE {wir, wiz, wee} MEREMIAREE. B TR
W, 4
Witer = Wit — Wiy /W,
TR (a)-(c) SKAR {wireo, wia, wao} EEATHEZERE B B
() W i ~ X, waz ~ Xy FEHEATIRLS
(b) HEW] wrol y ~ N(0,wz2), HELBEN] (BT 2) wioluwss ~ N(O, wzn) Bty TEW] wia/ /i ~ N(0,1) HE5 w4
Vo (c) iICHSEHEE Py =yy  /|lyl?, BIE wiree = x (L, — Py)x, HAITZZERIEH wiree ~ X271 AN wiree 1L wos.
(d) P (c) WFRIE, UER] wiree 1L wia] y, HUEHLXZE S T wires AL wia] woy, #E—2, WG 3 IEH] wiier 1L w1z,
(e) 2, FATUERTT

Wile2 ™~ X,,Qn_l J.L {’LU12,1,U22}7 Waoo ™~ X?n? w12|w22 ~ N(O,Ujgg)’

FI X BEFAL ) 3K {wi1e2, wia, wae b MBEAAEREE

(f) jz@[?ﬁ%ﬁ‘] {w11.2,'w12,’lU22} — {w11,w12,w22} El/‘J Jaconbi, 9‘JF:E {w11,w12,w22} E‘JEB%‘TE%«}E%F;E
Solution:

(a)-(d) ZFEHENPAE 5 LR

(c) HIBTHIRIESE, Tf14:

p(w1102; W12, CU22) = p<w1102)p(w22)p(w12 |w22)

_1y/2— B 2
B wﬁn’gl)ﬂ 1 exp (_wlé.z) w;”Q/Q 1 exp (_%) exp (_ 2&11222>

~2m=D/2T((m - 1)/2) 2m/2T (m /2) V27mway

2
(wWite2w22) ™ V/2 L exp <_°“”TW _ wu-)

T (m = )2 m2)r

() 78 SR e A7H1 2t

2
_ 2wi2 wiq
w22 w2§2

A it {w11, Wi, waa } S ST TR
1
p(W) = p(wi1, Wiz, Waz) = € (W11Wa2 — wfg)(mig)m exp (5(1011 + w22)>

= Cm | W |m3/2 exp (—%tr(W)) J1/em =2™/a0(m/2)T((m —1)/2)
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